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2 Fhxz 4104231 Qs 29 JE BRI X 200
3 LhxEE 4104231 Ptk 7 JEBRJE 1 IX 50
4 T 4104231 Pksfersioetork03 JE BB X 100
5 2% 4104231 Pkkksokotkk 22 JE BB 4 X 100
6 RS 41042319k k23 JEER I #1 X 50
7 JARga 4104231 9sksksksketetsior ] 1 JE BRI 4 X 100
8 Eky 4104231k 20 JEER 4 X 50
9 Bk 4104231 Pkkksiokotrk 28 JE BB & 4 X 50
10 P 4104231 Pkfoksictotork 25 JE BRI X 100
11 i 4104231 Pkt ] 1 JE BB & 41X 50
12 1 4104231 ks | 1 JEER 4 X 50
13 LS 4104231 Pkt 16 JEBRJE 1 IX 50
14 TkxF 4104231 Ptttk ] 2 JE BB X 50
15 Tkx15 410423193k 39 JEEE 5 4 X 50
16 Txtg 410423193k 16 JEER 4 X 50
17 Fx 4104231 Pkskksokotork 4 7 JEBRJE X 100
18 Hix 4104231 sk | JEER 4 X 50
19 2l 4104231 Pkkksiokotrk 23 JE BB & 4 X 50
20 s 4104231 9skskksokkk 1 2 JEER 4 X 50
21 = 4104231 Pkt | JE BB & 41X 50
22 T 41042319kt 1 5 JEER 4 X 50
23 TP 4104231 Ptk ] 1 JEBRJE 1 IX 50
24 By 4104231 Ptttk 22 JE BB X 50
25 A% 410423195k 24 JEEE 5 4 X 50
26 ikx L 410423 19%kxkk4%10 JEER I # X 100
27 Gk 4104231 9sktksokotork ] X JEBRJE 1 IX 50
28 FK 41042319kt 1 7 JEER 54 X 100
29 X 41042319k 24 JEEE S 4 [X 50
30 Kok 410423 19%ssskkksksk 25 JEER)E4E X 50
31 xR 4104231 93kskkkokk20) JEEE s 4 X 50
32 T 4104231 Qs 34 JEER 4 X 50
33 X% 4104231 Ptk ] 1 JEBRJE 1 IX 50
34 Fh 4104231 9skskksckokk k28 JEER 41 X 50
35 L 4104231 Pkkksokotrk 25 J6 BB 4 X 50
36 ¥ 410421 1 Qskskstokkk 24 KA XA [T A2 100
37 i 410421 1 Qs | KX XA KRB RS 100
38 T 41042119kt 27 KX XA RZE RS 100
39 Kok 410421 1 9kt ] 1 KRXF XM RE RS 50
40 T 410421 1 9tk | KX XA R 2 50
41 Hx 410421 1 Qo6 1 KX XA KRB RE 50
42 Fx 410421 1 Qo 46 KX XA R 2 50
43 Tk 410421 1 9kskstisioksk | KRXFEXM RERE 50
44 2% 410421 19skskksokkk 1 2 KX XA R 2 50




45 Fde 41042119k 35 RXFEX M RET RS 100
46 Tk 410421 1 Qksksoiokkk32 KX XA RZE e 100
47 e 410421 1 Qkssokkk 33 KX XA R 2 100
48 FhviEE 41042119k 2X KX RERE 100
49 Fxzz 410421 1 Qksksksoknk 18 KX XA RZE RS 50
50 2k 410421 1 Qs 2 | KX XA RZE e 50
51 Hhes 4104211 9skksokiok 19 KA XA TR e 50
52 THfE 410421 1 9skstsisiokksk 46 KA XA R A& 50
53 Fix 410421 1 Ptttk 24 RANFX AT RZE 2 50
54 ikt 410421 1 Qkskksiokotrk 33 KX XA RZE e 50
55 Bk 410421 1 9tttk | 3 RXFEX M REF RS 50
56 B 410421 19skskksicokkk 22 KX XA RZE e 50
57 R Y51 410421 19kkksctkokskk 27 KX XA R 2 50
58 fa[x 410421 1 Qoo 20 KX XA RZE e 50
59 Fx 410421 1 Qsksksotnk 32 KX XA RZE RS 50
60 ek 410421 1 Qkkksokotkk 27 KX XA RZE e 50
61 R 410401 19sksksictolotek 2X KIEAXH RF RS 100
62 =5 410401 193kttt 2X KFEAE XA %é; = 50
63 X 410401 193k 36 KEAXH RT R 50
64 x 410401 193ksktketokk 24 KEH XA KRB RS 50
65 SR 410401 1 Qoo 24 KRIEA XA RFT R 100
66 Fx 410401 193kt 2X KA XA R 2 50
67 ¥kl 410401 19%kkxk5%%25 KEHX A RZE R 100
68 2k 410401 19skskeksictokk 22 REFHXMNREZRES 50
69 i+ F2 410401 19skskksokkk 1 2 KIEAXH KT R 50
70 Hox 410401 1 9tttk ] X KA XA R 2 = 50
71 Zexik 410401 19skskksckokskk 22 KIEAXH RFT RS 100
72 B xlk 410401 1 Qktksiokotork4 7 krﬂi[ﬁ%éi 50
73 kI 4127021 9kkkskokkk 38 KEAXH RTR 2 50
74 F*AE 410401 1 9ssokokoksk 23 KEHXMNRERS 100
75 ity 410401 19skskeksicoksesk 18 KRIEAXH RFT RS 50
76 Hfes il 410401 19sskkotsotork | 8 KEH XA RZE 2 50
77 i 410401 1 Qsksskstoktkk 22 KRIEAXH RT A2 100
78 ks, 410401 1 9otk ] 4 REHXMNRERES 50
79 F*E 410401 19sksokekkx 24 KIEAXH RT R 50
80 70 410401 19skkssksk%20 KA XA R 12 = 50
81 Fx 410401 19skskeksicoksksk 27 KA XA R A 50
82 PR xy 4104211 9skskksictoletok 1 3 krﬂi[ﬁ%é; = 50
83 FIGig 410401 19skstkakatokk 29 KEAXH RT A2 100
84 Gty 410401 19skskeksicokok 1 3 KEH XA KRB RS 50
85 E g% 410401 1 Ptttk 2X KRIEAXH RFT RS 50
86 ARk 410401 1 Qkskiorsx 10 KEMXHRZE RS 50
87 R 410401 1 Qs 1 2 KRIEA XA RT A2 50
88 x 410401 19skskeksictoktok 1 3 KEHXH KRB RAS 50
89 ok 410401 1 9kttt 28 KIEA XA KRB R 50
90 X3 410401 1 9tttk ] X KEMXFRZE RS = 100
91 At 410401 1 Gkttt 1 4 KA XA 2R A 50
92 T#f 410401 19skskeksictoketk 27 krﬂi[ﬁ%é; S 50
93 Tk 410401 19skksksckokkk 2X KEAXH RT R 50




94 Sexlfg 41040119k 20 KEAX A RZE R 50
95 X 410401 19sskstetketok4 5 KEH XA RZE 2 50
9% Hx 41040119tttk 26 AN X ERENS 50
97 ke 38 41040119tttk 29 AR IX JE R b2 200
98 25 X 410401 1 skttt 1 0 ARG X E RZE b2 50
99 e 4104011 9sskstetokelek33 R X ERE S = 100
100 Fikx [ 410401 1 stttk 23 R X ERZE R 50
101 e 410401 1 Okttt 4.5 ?F}‘%il:)ﬁﬁéj\ = 50
102 Wik 410401 19skstekskkk 26 EMHXERERS 50
103 ER 410421 1 9kssskoioksk | 5 A X ERZERS 100
104 it 410401 1 Qsksetstosksekok 28 ARG IX E RE 2 100
105 Fhws 4104231 Qsksksksioksekk 23 EMHXERERS 100
106 BV 410401 1 stttk 26 AR IX B RZE 2 50
107 2y T 410401 19kt 39 EM X ERERE 50
108 2kl 410401 19sksksksikesek 1 X EMHXERERE 50
109 Aexhn 4104231 stttk | A X ERER S 50
110 Vit 410401 1 9sskotsietenk23 A XERE RS 50
111 =P 410421 1 9kttt 28 AMHXERERS 50
112 RN 410401 1 skttt ] 1 ARG IX fE RZE 2 50
113 F ol 410401 1 Qoo ] | FXH X ERERS 50
114 % 4104011 Pkssotork3X ARG IX E RE b2 50
115 BKH Ik 411121 1 Qskskskskskk89 EMHXERERS 50
116 A — 4104231 9tttk 36 AMHXERENS 50
117 Fhvx i 410401 1 Qoo 1 8 A X ERERS 50
118 B 4104041 skttt 27 M X ERERS 50
119 Wi 4104011 9sskstetsketetok 1 7 R IX B R b2 = 50
120 Aga 4104011 9stekekstotsisk 1 9 ARG IX fE RE G2 50
121 T 41040119tttk 7TX ZE%‘%EE%?T\ 50
199 Ak 410401 1 9kt 3 | MM X ERERS 50
123 Tl 41042319tttk 26 Zﬁﬂil:)%%éi 50
125 ik 410404 1 9sskeksiskoosk 29 ?\/Jili)ﬁﬁéJ\ = 50
196 k 41040419kttt 7 ARG IX B RZE 2 50
127 A f 410401 1 9tttk 2 7 EMXERERS 50
198 o 410401 19skskeksickokskk 38 EMHXERERS 50
129 Fy# 1] 4104011 9sskstetsketetok 1 7 KM %iEE%%J\z: 100
130 HEE 652901 1 9otttk 7 R IX JE RZE 5 50
131 i 410401 1 skttt 1 6 ?F}‘%il:)ﬁﬁéj\ = 50
139 ey 410401 19ssksstsessisk 10 A X ERE 2 50
133 Ak 410401 1 9ok k28 A X ERZERS 50
134 BT 4104011 9stekotestokotetok2X ARG IX R RE b2 50
135 TR 410401 1 9sksksksiokokk | 8 EMHXERERS 50
136 [ 410404 1 9sksksikosi ] 1 EMHXERERS 50
137 Ll 410401 1 9tttk 2 7 EM X ERERE 50
138 X 410401 1 Qsksetstosksekk 22 ARG IX ERZE b2 50
139 Bk 4104011 9sskstetsketek | 3 R IX JE R b2 = 50
140 et 410401 1 9tk 1X | 45 D64 X B RS B 50
141 Bk 410401 1 skttt 1 X ?F}‘%il:)ﬁﬁéj\ = 50
142 B 410401 19skskekstcsksksesk 1 2 EMHXERERS 50




143 T 410401 19sskssioiork49 EMHXERERS 50
144 Fat 4104011 Psorkorion22 | FRMAE X RZE A 2> 50
145 ERE 4104041 Pkepkrrrx2] | RMAE X R R 2 50
146 SR+ 4104041 9tiortionl4 | FRIAEXE R G 4% 50
147 S 410401 19%kpkrrrx1X | REMHXEFRE RS 50
148 ) 410401 1 9xkskskskskoksksk 22 EMHXERERE = 50
149 X 4104011 Pototosotoon2d | ZRMeAE X 2R A 50
150 Fx= 410401 19kkkorkir 1X F%%i[%%éj\ = 50
151 Bk 4127281 kieiorien2 | ZRMAXERZ A2 50
152 b 4104231 9otoriorn2] | RN X ERZE o 50
153 %85 410401 1 9xkskskskokoksksk 22 EMHXERERS 50
154 s 410401 1 9tttk ] 1 EMHXERERE 50
155 Txd 410401 19sktstolottok | X AR IX B RZE 2 50
156 Hl#i51 4104011 9kottotokor31 | FROMAE X JE IRFTE A 2> 50
157 i 4104211 Pkiopiioien2] | ZRMAXERZ A 50
158 T 4104011 Pkt 19 | FRMAL X RZE A 2 100
159 il 41040119kttt 4 | AOMAEXERZ A2 50
160 Skl 4104011 Pttt 13 | ZRMAE X R RZR A 22 50
161 g 4104011 9ksoiiorior X | AOMAEIXE IRET R £ 50
162 i 370 410401 1 9skskksorok 18 AN IXERE 2 50
163 XlJs 4104011 9bettotion3X | AROMAE X [RZE 012> 50
164 Bl 4104211 Pksorkrorin22 | FRMAEIXJE RRZE A 2> 50
165 B 4104011 9ottt 2X | RN AE R REE G 2% 50
166 i 410401 1 ktetsioletetek ] X mEEAE XA RZE RS 100
167 Tl 410401 19%skskskskskskk 22 XA RET RS 100
168 Hx 410401 19wkrrrx2] | AL XA RS 51 25 = 50
169 kL 4104011 9optiortn]3 | AL XA RZE 5142 100
170 Forat 4104011 9sksotkix 18 | 1 ii‘i[ﬁ%éi 50
171 Fxit 410401 1 Qs 22 AL XA (R o1 2 50
172 k[ 410401 19t 13 | AR KA IR B & 50
173 3k 410401 19%kskskskkkk 18 i R XA KRB S 50
174 Ak 410401 19skkssksksk%24 EEHXNRERS 50
175 g 410401 19skskkskokskk25 FEHXMNRELRS 50
176 Xl 4104011 9otttorioron26 | i FE A XA R G125 100
177 Bl 410401 19%skskkkkx%2 | R XA RB A S 50
178 Wik 4104011922 | o AL XA RZS 51 25 = 50
179 X* 4104011 9kkrorixd8 | FEAE XA 2R A 100
180 Wkt 410401 193kkstkskskkk3 1 e A XA %éj\ = 150
181 ik 4104011 9bsetotion 14 | iR FEAEXORT R ZE 014> 50
182 S 410401 1 Ptttk X A XA RZE e 50
183 Sk 41040119karionk6 | AL XA IRZE B 22 50
184 ik 410401 19sskskskk5%2X EEHXNRERS 50
185 Sk 410401 19ksoksorin2X | AL XM IR ZE 15 50
186 A 410401 1tttk ] X A XA RZE RS 50
187 . 410401 19%ssskskoksksk 27 R XA RBAS 50
188 (U 410401 19%ksksskskokoksk 24 FEA XA RE RS = 100
189 T 4104011 9kkrorix22 | FEAE XA 2R A 100
190 By 410401 1 9kt 22 e A XK %éj\ o 100
191 % 4104011 Portorieond 7 | g FEAE XA RZE A 2% 50




192 ek 41040119keriionks | AL XA IRZE B 22 50
193 e 410401 19pkirkix53 | oy AL XA RS 51 4> 100
194 R 4104211 9wpksorrx18 | AL XA RS 51 45 50
195 Bk 4104011 9ottt 16 | g FEAR XA IR B 2 1200
196 Rk ix 4129291 9kskssiskokoksk 24 R XA RB A S 100
197 W+ 410421 19%%xx5%5%%%99 FEAE XA RE RS = 100
198 =P 410401 19wpkirrrs2] | A XA RS 50
199 A 410401193kt 16 = i%i[h‘%éj\ = 50
200 Bk 4104011 9otiortn 10| i FEAL XA RZE 5142 50
201 ] 410401 1ot 13 | mFEAE XA R ZE A 42 50
202 Bk 41040119keriionka8 | E AL XA IRZE B 22 50
203 Sl 410401 19wpkiorrrx2X | o A XA RS 51 45 50
204 Wik == 410401 19%ssskskoksksk 1 3 R XA KRB S 50
205 P 410401 19iorotoor28 | i FEAE XA R ZE A 42 50
206 TIEs 410401 19skskksiskoksksk22 FEHXMNRELRS 50
907 e 4123271 9skksikokosk 26 AL XA R 512 50
208 Ty 4104011 Qoortotoiion29 | o FEAL XA IS B 2% 50
209 T 410401 19%kskskskskokok | X FEA XA RE RS 50
210 Fx 410401 19ksokion2? | I EAE XM IRZE 15 50
211 Srf 41040119kt 10 | RHAEXASRZE A2 50
219 Hoxhl 410401 19skkskskokskskk2 | RIEA XA RFT A2 100
213 i 4104011923 | SEHAE XA RZE G 4% 50
214 Sl 4104041 9pksorn99 | SCHAE XA TS 51 45 50
215 X 410401 19kiootton2d | RHAAEXASRZE A2 100
216 ok 410401 19sksksksskoksek | X RIEA XA KRB R 50
217 s 410401 19%%sxk5k%%40 KEFXFRZE RS = 50
218 Fxfl 410401 19sekssotonsok24 KEFX A RZE R 50
219 Bk 410401 19sekeksotorsiok20) KA XA %éi 100
290 el 4104011 Qoo 19 | RFEAE XA RZ 2> 50
291 il 410401 1 Pkttt ] 4 KEFXFRZE RS 50
299 Fh 4104011 9sskkstkskeskk 27 KIEA XA KRB R 50
993 Bk 410401 19s%sksksk5%19 R X A R 2 50
294 SorbF 410401 19skksskoksksk 16 RIEA XA RFT A2 50
225 Fx 410401 19kiroteton20 | RHAAEXASRZE A2 100
296 Fhk 410401 19sksksksksksk 19 KIEAXH KRB A2 50
9227 ek 4104011 9ot 15 | REEAEIXAS R G2 = 50
298 Flxp 410401 19%skpkk29 | KA XK R ZE R 50
299 T 410401 1 Potersiolotorsk 1 5 %Eﬁ[ﬁ%éj\ o 50
230 Fanr 4104041 Portioriond2 | RFEAE XA RZ 2 100
231 2% 41040119tttk KEH XA RZE 2 50
239 S lb 4104011 9pksorrrn2X | AL XA R 51 45 50
233 ok 4104011 9tiortnl2 | AR XA RZE Fi4x 50
234 ek 410401 19skskksckokskk28 RIEA XA KT A2 50
235 ER) 410401 19kiootn2] | RHAEAEXASRZE A2 50
936 Sl 410401 1 9sokpiorsor26 | A XA RZE RS 50
237 ] 3 410401 192X | RHAE XA RZE G 2 = 50
238 B 4104011 Yoottt | REEALXAS [RZE 57 50
239 Kok 410401 1 Potersiolotorsk ] 7 KA XA %éj\ = 50
240 B 410401 19ksokiorkn2d | RIEFEXAIRZE 14 50




241 T 41040119kt 1 5 KIEA XA KRB RS 50
242 Sk T 4104011 9kskpiokiok 10 | REMHXFRER S 50
243 s 410401 1 Qoo 24 RIEA XA RFT A2 50
244 F5T 410401 19sksksksictokete 1 2 R X A R 12 50
245 Fok I 410401 19%kskksktokk 19 KIEAXH KRB R 50
246 okl 410401 1 Qktksiootk2X KEFXFRZE RS = 50
247 Bx 41042119k 23 Al FE A XA (R 2R 100
248 KL 410421 193kskketok20) fA] FE AR XA %éj\ o 100
249 s 410421193k 20 R XA RT R 2 100
250 AT p, 410421 1 9kt | 5 A XA RZE RS 50
251 H* 410421 19%kpoksketokk4 X R XA T 2 50
252 B 410421 1 Qkssckokk 1 6 A XA RZE RS 50
953 Ex 41042119kttt 7 I EA XA R ZE 50
254 Tk 410421 1 Qkkksokotrk 23 A XA RZE RS 300
255 Fxg 410421 19sskskoksesonsk | 3 Al A XA TR E 50
256 sk 410421 1 Qo2 | A XA RZE 2 50
257 BKx 1t 410421 1 9k x06 Al A XA TR S 150
258 Xl 410421 193ksktoketok64 AT EAE XA (R 1 2 100
259 B 410421193k | X A EAE XA RB R 2 50
260 Sk 410421 1 Qs 2 | A XA RZE RS 50
261 ForbE 410421 1 Ptttk ] 2 A XA RE RS 50
262 2 410421 1 Qo2 | Al FEAE XA (R 1 2 50
263 T*AH 410421193k 3 | A EAE XA RZTZ 2 50
264 (EEZ 410421 1 Qkktsootork | 3 A XA RZE RS 50
265 Fx 410421193k ] | A XA RE RS 100
266 Zsk D\ 410421 193ksketokkd | T XA R i1 2> = 100
267 Fh 410421 19skskslotokk29 TS XA RE RS 50
268 o 410421 1 9kt 20 AT 3 X RS %éi 50
269 Tk 410421 19%%ssk5k%%69 A XA RE RS 50
270 BBz 410421 1 Qkkksiokotkk 27 A XA R 1 2> 50
271 ok 4104211 9skskeksitoletokd 3 A XA RE RS 50
272 Fx 410421 193ksoketok ] 1 T XA R T 2 50
273 s 410421 1kt ] X A XA RE RS 50
274 Hex 410421 1 Qoo 26 A XA R 1 2> 50
275 F i 410421 1 Qksetstotesteonsk | 8 TSR XA KRR 2 50
276 (LR 410421 19skskksicokek 22 A XA R Z e = 50
277 % 410421 19kkkskkkk28 T A XA R R A 50
278 FEx 410421 193ksktketokk29 AT 3 X RS %éj\ = 50
279 TR Ky 410421 1 Pttt 26 TSR XA KR 2 50
280 Fx4 410421193kt 16 A XA R Z e 50
281 % 410421 1 9stotokokk 23 A XA RE RS 50
2892 ik 410421 1 Pkttt 24 T XA R R T 2 50
283 Fx 4104211 9kkkstkokskk 27 S XA R ZE 2 50
284 Yk 4104211 9skkksictokok 25 A XA R 1 2> 50
285 JE % 41042119kt | S XA RZE 2 50
286 gk 410421 1 Qoo 40 A XA R Z e = 50
287 T 41042119kt 1 5 VS XA R T 50
288 T*xH 410421 19%kskkokk59 Wi[ﬁ %é; S 50
289 e 410421 1 9sksksksisikokok 3X U A XA R 2 100




290 B % 410421 19kskskorksond2 WA XA R & 50
291 Tox e 410421 19spksonsix | 3 ﬂl"%iliﬁ%%xz: 100
292 T xif§ 41042119tttk 23 PR XA (R D12 100
293 e, 4104211 Prottorior 16 Wi[ﬁ KZ&0iz 100
294 Tx 410421 1 9kskstsiesisksksk 20 XA REZ RS 100
995 g 410421 19%%x5x5k5k%%9 | ﬂl"%il:ﬁ RERE = 50
296 o7 41042119tk 26 U A XA (R ZE 300
297 Fx 4104211 Pstkctin20 Wi[ﬁ%éj\ = 50
208 T 410421 19%skskskskskskk 27 XN REZRE 20
299 Wyld 410421 19skkkk5%20 ﬂl’%ﬂ:ﬁ K& 50
300 Ve 410421 19skskskskkk 20) W XA RZE 2 50
301 = 410421 19sskspk5%49 ﬂl"%iliﬁ RERE 50
302 Tx 4104211 Qkkorin2] | B XA RZE A 2> 50
303 Fx 410401 19#kkkakin25 ﬁi[*f%éj\ = 50
304 Wik 410401 19%ssskskskoksk 24 EAXMNRERS 50
305 T 4104011 9%#kksk5x24 i XM RERS 50
306 25 410401 19kiorctorion26 B XA IR 50
307 s 410401 19kstskortion28 Hﬁ[ﬁ RERE 50
308 B 410401 19kt 1 B RER S 50
309 W+ 4104011tttk 19 E*“?fﬂ:ﬁ REAZ 100
310 Wz 410401 19%xskxxxx% 14 EAXMNRERS 50
311 Bk 2L 410401 19%#kk355%2X E*ﬁlﬁl‘]‘%éJ\z 50
319 25445 410401 19kskrkix28 B RERS 100
313 T* 410401 19#kksonkin25 ﬁ%i[ﬁ%éj\ = 50
314 FHl 410401 19%kskskskskkk 28 EAEXMNRERS 50
315 H 410401 19%sk555%25 i EHXHNRERS = 50
216 ik 4104011 9steskstestootetok2X EEXNRZE 2 50
317 i 410401 19kksonkin23 Wﬁ*ﬁtﬁ %éi 200
318 T 410401 19%sskkxx%%39 EAXMNRERES 20
319 Wty 410401 19kt 13 $ XA IR 50
320 kst 4104011935tk 26 AKX RET RS 50
391 ik 410401 19ssksopkin] 4 E*HDH RERE 50
399 Wl 410401 19stkonskdn22 B RER S 50
323 Fxt 410401 19kksonki2T ﬁi[*f%éj\ = 50
394 T 410401 1 9kskstsisisksksk 49 EAEXMNRERS 50
395 T 410421 19kstrsrx3s )%/%ﬁliﬁ RERAZ = 50
326 fRxE 410421 19wpksorindd | FEHAE XA R ZE 5 150
397 Hi% 4104211 9kwpkrrix28 | FEHAE X AT %éj\ = 50
328 Bl 4104211 P28 | FEHEAL XA RZE G4 100
329 Hh 410421 1Qiorotoor23 | FRIEAE XA RZE A 42 50
330 Tx 4104211 P23 | FRHEAL XA RZ A 2> 100
331 FExI 4104211 Qoo 12 | AR XA R A 2> 50
339 i 410421 19ksokiorkn28 | FEFAL XA IRZE 615 50
333 BRES 4104211 92l | FEEAEIXAS RZ G2 100
334 ik 410421 19skskskkokk 20 XA RZE 2 50
335 T+ 410421 19%kkrrx22 | FEHEAE XA RZE 51 2> = 50
336 By 4104211 Okwkrrix14 | FEHEAE XA RZE A 50
337 T 4104211 Pksptotion24 )%/ﬂi[ﬁ%éj\ = 100
338 Ex 410421 1iiororoiien2] | FREEAE XA IR A& 100




339 Y= 410421 1 9soksoionion] | FRHEAL XA 2R A 2% 50
340 i 410421 19tk 17 | FEFEA XA R RS 50
341 AR, 410421 1 Pkttt 1 5 B XA RZE 2 50
342 Rk 41042119%kkpkxxx19 | FEEEH XA RB RS 50
343 Fx 410421 19kkotsotonsk2 | FEEAE XA R T 2 50
344 F* 410421 19kskptornok6h | FEVEA XA RZ 4 50
345 JE* 4104211 9%kwkrrrx2] | BEEA XM RZE RS 50
346 X 4104211 9o 30 | FEEEAE XA RZE R 2 50
347 ek 4104211 Potiorio29 | FREHEAE XA RZ A 2 50
348 B 410421 1Qiorotoor32 | FRIEAE XA RZE A £ 50
349 Tk 4104211 9kietoion22 | FEHAL XA R ZE 012> 50
350 BK*AT 4104211934 | AL XA RZE 5o 50
351 W% 4104211 Phsortotoiond9 | R XA RZE A 2 50
352 i 4104011 9otiortien 17 | BiHRUE AL XM 2 51 2% 50
253 X 41040119kt 25 | 35 A X AT 2% b1 4> 50
354 A 410401 191X | BRI Ak XA IR 2 2 100
355 Fxfp 41040119tttk 19 | TR 4 XA 25 B 4> 200
356 PARE> 4104011 9ekoottor22 | F RS AL XA %éA = 150
357 ok 4104011 Pkserierotion | FEUUE 1 XA RS 51 4% 50
358 R 410401193kl 25 | TR E 4 X AT 25 i 4> 50
359 ek 410401 19%skkirok 12 | FHIRE A XA RZE A & 50
260 Rk 41040119kkkkk20 | FHRUE A XA RE & 50
261 Fx 4104011 Pksettorotond | YU L XA R 01 4% 50
362 Jifisdt 4104011 9ottorioronb | 7 HRUE AL XA R A £ 100
363 B 4104011 Pttt | FEYUE AL DR R ZE 51 4% 50
364 Xl 410401 1 Qksksotoknkx28 [ FrREHE XA KRB R & = 50
365 Frx 4104011 9oritoriokor25 | B HRUE AL XM [RZR A 42 50
366 s 41040119k 2X | IR 41 X %éi 50
367 Jifix 4104011 9ksokkk22 | BHRUE A XA RE & 50
368 XAl 4104211 9okl 4 | B HRUE AL XA %éj\ = 50
369 ik 410401 19%skiokok2X | FHIRE 1 XA R ZE 5 100
370 Sty 4104011 9kkkkk2X | FHIREH XA RBE RS 50
371 e 4104011 Pksorioroton29 | FEYUE L XA RS 01 4% 50
379 E 4104011 9ksksctotook 14 | FFHRE #1 X AT R 25 G 4> 50
373 24 410401 19etottoron 12 | 7 R0 41 XA RZR A 2% 50
374 s 4104011 9kkskkk3X | FRUE A XA RE L& = 50
375 L% 410401 19iksorin29 | B PR +E XA [ZS 51 50
376 Fxis 4104011 9otiortien22 | BiHRUE AL XA %éA = 50
377 B 410401 19kskkiork2] | FEIRE A XA R A & 50
378 S 4104211 9ol 4 | B AL XN KR A 2 = 50
279 Ttk 4104011 9skkkscioiook 10 | Fi U 41 XA R ZS B 2> 50
380 P ZE 4104011 Yottt 3X | 457 PO A XA %éi 50
381 Fiht 410401 19kskkiorsk29 | FEIRE A XA RZE A £ 50
3892 Fex 4104011 Pkkwiokx20 [ FHREAE XA RE RS 50
383 Bix 4104011 9%sstrrrnk29 | Fiif k4 XA RE 2 = 50
384 Fhweg 41040119kt 22 | TR 4 XA 23 B4 z: 50
385 Jifi 410401 19iksorrrn22 | B PR +E XA FZS 5 50
386 vk 4104011 Qksciorrk 15 [FFRUE 4L XA %éA o 50
387 2L gAE 41040119tk 10 | 54505 A XA )2 b1 4> 50




388 Vrxky 4104011 kksiorkx28  [FREAE XK RZE R4 50
389 Fx 4104011 9kkkkk2X | FHIRE R XA RBE RS 50
390 Aixtf 41040119k 37 | FFIRE A XA RBE RS 50
391 s 41040119tk 26 | FRE 4L XA RZEB R 2 50
392 G 410401 19kkksokkx 1X [ FHREAE XA R R & 50
393 =% 41040119tk 22 | FRE 4L XA R R 2> 50
394 FE bk 4104011 9skotstoloteiok26 | FRUS H1 XA FEZE G143 50
395 2% 4104011 9kkssiookx 10 | FRE 4L XA RB R 2 50
396 kg 4104011 9kkksokkx23 | FIRE A XA RBE RS 50
397 FH 4104041 Qo7 [ A XA RZE 4> = 50
398 Tk 41040119tk 23 | FF R 41 XA 2R B 50
399 SR 410401 1 Qoo 26 | AR+ X A %éj\ = 50
400 12k 4104011 9kkkkkx20 | FFIREAE XA RBE RS 50
401 FExily 4104231 Qkscorrx39 [ B S AL XA RZE R 4> 100
402 ¥R 410423 19kkks0kkx29 | B S 4 XA RZB & 100
403 Fx 41042319k 10 | BRATE XA RB A& 50
404 fAT%5% 41042319kt 19 | BRI JE#E XA RB R & 50
405 Fhxr- 41042319k 15 | BT 5 4 XA %éj\ = 50
406 ZAxlfk 410423 19kkkskkx43 | B AL XA RB R 2 = 100
407 5k 4104231 9kkscriork28 | BT A X AT R 514> 50
408 X 4104231 9ikrok2X | B JE 4 XA R & 100
409 VRS 4104231 Pokkiorkx23 [ B EAE XA RZE R & 50
410 kI 41042319kt 7T | B S 4L XA RB R & 50
411 Pk 41042319kttt 26 | BB JE A XA R 714> 50
412 25k 410423 19kkksokkk24 | B S #E XA RZB 2 50
413 i 4104231 Pokkriorkx27 [ B AL XA RZE R & = 50
414 % 4104231 9kkkxtokkx 10 [ BRI AE XA [T R & 50
415 KU 4104231 Pkkiokkx2X [ BRI AL XA %éi 50
416 Fx5g 410423 19kkkskkx36 | B S 41 XA RB R & 50
417 2k 4104231 9kksksctkookk2] | B 5 ﬁ:l:*j%észz 50
418 Xl 41042319k 19 | BRI 41 XA [RZE 50
419 ]« 410423190kl 58 | B ik 4 XA %%J\ P 50
420 i 410401 1 Qs 49 X FEAE XA R 71 2 50
421 e 410401 1 Ptttk | 3 X FEAE XA R 1 22 50
422 T 410401 1 9otk k28 KEA XA RE e 200
423 Sk 410401 1 Ptttk 27 X FEA XA R b1 22 = 100
424 B 410401 19%skpkik14 | X EAE XK R Z R 50
425 P+ 410401 19skkksictokeok 28 X FE A XA %éj\ = 100
426 i) 410401 19skptorior 15 | X EFEX A [RZE 4 50
4217 bt 4104011 913 | XA XA RZE R4 50
428 s 4104011 Qoo 10 | AL XA RZE 51 4 50
129 B+ 4104011 9tiortrn2X | X AR XA RZE G145 50
430 Ex2 410401 1 Qs 25 X FEAE XA R 71 2 50
431 Fx 4104211 9skkksictokok 25 X FEAE XA R 1 22 100
432 Zexdfh 410401 193kt 2X KEA XA RE e 50
433 EECAN 410401 193kskeokk 20 X FEAE XA R b1 22 = 50
434 IDERES 410401 193kt 3X X FEAE XA R ZE 50
435 Tl 410401 193ksktoketokk29 xUE%iEﬁ%éj\ o~ 50
436 Kok 410401 1 Qs 20 X FEAE XA R 71 2 50




437 % 410401 1 Qs | KEA XA RE 2 50
438 kfe} 410401 1 9ok k38 XER XA RE RS 50
439 YA 410401 1 9tttk 1 6 KEAE XA RZE e 50
440 BT 410401 1 9kskstesiesioesk 1 4 XA XA R 50
441 Sk 410401 1 9kttt ] | KFEAE XA KT e 200
442 Fx1l 410401 1 9tttk 1 4 XA XA R = 50
443 SEskk 410401 19%%sskkkx1 1 XA XA R 50
444 PR 410401 1 Qkkksiokotork 1 8 X FE A X AT %éj\ o~ 50
445 A5 410401 19skkksctokrk 1 8 AEA XA RE 2 50
446 E R 410421 1 Qoo 19 X FEAE XA R b1 22 100
447 Bk 4104011 kksoiornk] 7 X AL XA R 2 7 2 50
448 fT#E 410401 1 Qoo 1 5 M X ERERS 50
449 X% 4104011 9wkkpkrk2X | X EREBERS 100
450 2 410401 1 9skstsisiossk 1 0 X ERERS 50
451 Fx 410401 19skskkscokskk 27 T X ERERE 50
452 x> 410401 19skkksictokekk 25 FFHMXEREZRES 50
453 ExF 4104231 ks 2 1 X ERERS 300
454 ZE it 4104011 9skskskesketeterk 1 3 X ERE RS 50
455 Bkl 410401 19%ssskskoksksk 2 M EREZRES 50
456 Zspt 410401 19skskeksicoketok 1 3 TR X EREZ RS 50
457 B 410401 19skskksckokskk 22 X ERE RS 50
458 A 4104011 9otorioon 1 1 | JRAEAE X B RZE G125 50
459 RN 410401 19%kskoksketork ] 1 JerEA X JE RZE e 50
460 ke 410421 1 Ptttk 25 X ERE RS 50
461 sk 410401 1 Qs ] 1 T X ERERSE 50
462 fr 410401 193kskkeokk 26 FFHMXEREZRES = 50
463 Tokgd 4104221 9sksteletonk 34 PR X ERT RS 50
464 S 410401 193ksktoketok 46 TEPEAE X JE %éi 50
465 Ak 410401 19skskksctokskk 32 PR X ERE RS 50
466 RS 410401 193kskikokk 20 FPEA X EREZ RS 50
467 Zexf 410401 19skkstoletok 38 PR X E KRB Re 50
468 [F2] < B 410401 1 Qokskoiorknk 3 A X R RE 2 50
469 ez 410401 19kttt | X PR X ERT RS 50
470 ok 410401 1 9kskstesioesksk 22 HFEHXERERS 50
471 K sk 4104011 9ssesrttokk23 PR X ERE R 50
472 ook i 410401 193ksoketokk2 | At X ERE RS = 50
473 T3 410401 1 9ksksietokokk 24 JePEAE X E R A 50
474 P 4104111 9kkskekeketoik 20 %ﬁ%i[%%éj\z: 50
475 X% 410401 1 Qs 25 TR X JE RZE e 50
476 -3 410401 19kksptokork ] 3 T X E R e 50
477 ke 410401 1 Qokstok k%26 PR X E KRB R 50
478 s 410401 1 9kstsotk | X A X R RE 2 50
479 sl 4104231 9ksksksisisksksk 26 HFEAHXEREZ RS 50
480 XAt 4104211 9skskskskereekk48 X ERE RS 50
481 by 410401 19tttk 22 PR X ERE RS 50
482 =RA1l) 410421 193kskskkk29 At X ERE RS = 50
483 sl 410401 1 Qs 1 7 PR X E R A 50
484 i 410401 19skskskekstoskokek | e EAL X %éj\ = 50
485 Y5 410401 1 9tk 20 PR X ERE RS 50




486 Pl 410401 19skstsksk 10 A X ERE RS 50
487 ik 410401 1 9skskskskskk 19 At X ERE RS 50
188 TRk 410401 19skkskskskskskk 10 HPEH X ERE RS 50
489 Hg 4128281 9ortoioin28 | JRYRALIXE R G2 50
490 =it 410401 1 9skssikoksksksk 28 T XEREZ RS 50
191 K 410401195k 1 X A X R R T 2 = 50
492 Tk 410401 19skskksskokskk ] 3 TR X E R A 50
493 gt 410401 19sksksictototk 2X YR X R %éj\ = 50
194 el 4104251 9skskssikokoksk ) PR X ERE RS 50
495 Zs st 410401 193ksktkeokk 19 A X R RE 2 50
496 TR 410401 19skskeksickskses 1 2 PR X E KRB Re 50
497 FH 4104231 9%kkkskkkk29 A X ERE RS 50
198 SR 410401 19skskkskokskkd 5 HPEH X ERE RS 50
499 VrxF) 4104231 Ptttk 67 Tt X ERE RS 50
500 B 4124271 9skkskskoksk k%26 PR X ERE RS 50
501 el 410401 1 Qskskssikskkx 26 At X ERE RS 50
502 PR 410401 19k 2X X ERE RS 50
503 X 4123271 9kkscokedok 28 A X R KT 2 50
504 Erh 419004 1 9kskssikoksksk69 PR X ERE RS 50
505 Xijsdge 410401 193ksktkeokk 20 A X R RE 2 50
506 Fx 410401 19skskeksickokskk23 A X ERE RS 50
507 ] 410401 1 sksksskskk 1 4 A X ERE RS 50
508 IEPT 410401 1 Gttt 2X | Bl A X A B2 B 2> 50
509 2S5l 4104011 9kkskkk23 | B UL AL XA RBE A& 50
510 T 41040119kttt 22 | B AL XA RZ B 2> 50
511 T 41040119k 2] | B i A 4 XA 25 B 4> = 100
512 i) 4104011 Qkkotorkx23 | g AL XK RZE & 50
513 Ak 41040119tk 2X | B JiEE 41 [X A %éi 100
514 Fx 4104011 Qo] | B A X K REZS B 2> 50
515 Txh 41040119k 21 | B XA RBE RS 50
516 K 4104011 Qokksotorkx27 | I AL XK RZE 2 & 50
517 Exr 41040119626 | B UL AL XA RE & 50
518 E 4104011ttt 19 | B i -4 X A B2 B 2> 50
519 Tx 41040119kkskkk20 | B UL AL XA RB & 50
520 Pkt 410401 19skskseiotookdX | B AL XA RZ B 2> 50
591 Wk 410401193kl 20 | B i 4 [X AT 25 B 4> = 50
5992 Pkt 4104011 Qoo 23 | B - X A B2 R 100
593 75 410401 19skkstciotork62 | B JiAE 4 XA %éA = 100
594 IR 4104011 Gttt 28 | B i -4 X ) 2 B 2> 50
525 B 410401 19soisieieieoren26 | MBI AE XAY IR 0 2 50
596 ok 41040119tttk | B AL XA R A 4 50
597 (% 4104011 Pkttt 25 | 5 A= X b B2 G 4> 100
598 I8 410401 1 Qo4 3 | B i A 4 (X A BEZS B 4> 50
529 R 4104011 Pkksiokkx 17 | BT AL XA RB R & 50
530 Wik 4104011 Qkkstorkx29 | AL XK RZE & 50
531 sk 41040119tttk X | B AL XA R R4 = 50
539 7 4104011 Qoo 26 | B - X A (25 R 50
533 BLb 4104011 Yoottt | X | B A A XA %éA = 100
534 Wik e 4104011ttt 19 | Bl -4 X K 2R B 2> 50




535 % 4104011 kktorkx2X | B AL XK RZ 2 4> 50
536 o 4104231 9kkksoikx20 | B4 XA RB R 2 100
537 X+ 410401 1 Gttt 25 | B i - X A B2 B 2> 50
538 Bix 41040119kkskkk20 | B UL AL XA RBE & 100
539 . 4104011 9skskseiotok 2] | B AL XA RZ B 2> 50
540 Wxts 41040119tttk 20 | B AL XA R R4 50
541 it 41040119tttk 29 | B I 4 [X A FEZE G 4> 50
542 Gy 4104011 Yoottt | AU A XA R 2 B 22 50
543 T 410401 19kkksckokokkd3 | T A 4k XA 2 B 2> 50
544 FH4E 4104011 9kksksoioiokn31 | B AL XA RB R 2 = 50
545 By 4104011 Qoo 25 | B - 4 X A 25 50
546 Bk 410401 1 9skskskskskkx 20 T‘ﬁéfﬁffﬁliﬁﬁﬁj\ = 50
547 i 4104041 Qrstoiotord8 | B A X A B2 B 2> 100
548 Bk 4104011925 | B A XA RBE RS 100
549 Fik 4104011 9skskseiotook 12| B 4L XA 2R B 2> 100
550 S 4104011 Pkkwiokkx14 | FFITAL XA RE RS 50
551 X 4104011 Qokkoiorx28 | B AL XK RZE & 50
552 Tk 4104011 9sikstornk62 | T J0UH- 41 X AT %éA = 50
553 Ak 4104011 Pttt 22 | Bl i 4 X K 2 B 2> 50
554 P 4104011 Yttt 18| P AL A XA IR 2R B 4% 50
555 E 410401 19skskotsonk2X | o A 4 X A B 28 A 4 50
556 Fx 4104011 Qo4 3 | B i A= X b B2 G 4> 50
557 iy 41040119kt 17 | B A 4k XA 25 B 2> 50
558 Bt 4104011 Qstototorieneor28 | P AL A XA (R 2R B 42 50
559 Wikt 41040119551 | B4 XA R 2 2> 50
560 i 4104011 Pkkriokx25 | BT AL XA RE R & = 50
561 T 4104011 9skkkseiotork 27 | B AL XA RZS B 2> 50
562 ok 41040119k 26 | B Ji 41 [X A %éi 50
563 i 4104011 9ottiortnd9 | B AL XA R 1 22 50
564 2 4104011 9kksooiokx23 | B AL XA RB R 2 = 50
565 Jifis 41040119tk 17 | T Jii FE A X A 25 B 50
566 Bk 410401 1 Okt 22 | g Ji ﬁff%iliﬁ%%x = 50
567 s 410401 1 Qoo 25 | Bl i X A REZS DA 2> 50
568 D 4104011 Qsotototorioieon 13| P AL A XA IR R B 42 50
569 X 4104231 koot ]8 | SR EAE XA RZE A £ 100
570 T 1Ly 4104231 9skskkssksksk%38 REHXMNRERS = 100
571 Fx 4104231 9wksorrrrdX | IR AL XA R ZE 5 100
579 B 410423193tttk 2X R EAE XA %éj\ = 100
573 B 4104231 9sksksksisikokok X REMHXMNREZRS 100
574 B 4104231 9ortoion27 | IR EAEIXAS R G2 50
575 Wik H 41042319k | X REMHXMNREZRS 50
576 Hox 41042319kttt 1 X RPN RERS 50
577 W+ 41042319%kkspkx21 | S AL XA R A 43 50
578 P 4104231 9o X | IR EAEIXAS RZ G2 50
579 Fax= 4104231 ksorotoinb7 | SR EAE XA RZE A 42 50
580 % 4104231935540 REHEMNRERS = 50
531 Fix iy 4104231 9skskksskoksksk | 7 R A XA R A 50
582 Fe )l 4104231 9orotiors7 | IR EALIXAS %éj\ = 50
583 Fxdt 41042319tk k27 R EHXHRE RS 100




584 T *{F 4104231 Pkksoiorkk28 R PR XA RZE RS 50
585 X4l 4104231 Psksksokkrkd) RPN RZERS 50
586 AR 41042319tk ] 4 R RE RS 100
587 Tk* 4104231 9sksteksictoketok 1 8 SR AR RZE 2 100
588 ES2) 4104231 9ksksiciokokk 49 REHXHRE RS 50
589 Fx 4104231 Pkkksokotkk 23 RPN RZE RS = 50
590 [k 4104231 9skkeksictolk 25 R XA R A 50
591 YN 4104231 9skkeksictolkelok 27 R A XA %éj\ o 50
592 T 4104231 Pkttt 20 R EH XA RZE e 50
593 Fekg 4104231 9ktksokotrk X R EHXNRZERS 50
594 Fxil 41042319tk 1 5 REHXHRERS 50
595 250 4104231 Pkkksokotkk 27 RPN RZERS 50
596 TKxkg 4104231 Qkkskskokk 46 R EHXHRE RS 50
597 Fexiz 4104231 Ptk 3 1 RPN RZERS 50
598 B 4104231 9skskksckoksk k27 R EMXNRERS 50
599 ¥ 4104231 Pktksootk2X RPN RERS 50
600 fhvk 4104231 9sksksletodk 20 REHXHRERS 100
601 JEYea 4104231 9sksksckolotok 2X R EHXNRZERS 50
602 Jifisif 4104231 9skkstskseskkk 46 R EHXHRE RS 50
603 il 4104231 Pk 1 6 R EHXNRZERS 50
604 B 4104231 9ksksictokokok 24 REHXHRERS 50
605 k% 410401 1 Ptttk 27 LSk XA R b 2 50
606 FE353 410401 193ksokskkx 20 L XA R 2 100
607 e 410401 1 Qkkksiokotkk 28 Ly sk XA R 2> 50
608 i 410401 1 9skskssiskokoksk 24 L XA (R 2 100
609 XK 410401 19%kskkkokk 19 LS XA R b 2> = 50
610 ok 410401 1 9kssictokokk 24 e XA (RZT 2 50
611 FEr 410401 19skskeksictoketk 27 mﬁﬁtﬁ%éi 50
612 [ 410421 19%kskskkokk56 sk XA R 2 50
613 A 410401 19skskksicokk 22 Ly A XA (R 1 2 50
614 FUETIN 410401 19sksksietotetor 1 X L XA (R 2 100
615 xS 410401 1 Q%28 st XA RZE R 2 50
616 B 410401 193k 2X L XA (R 2 50
617 Tkl 410401 1 Pkt 24 LSk XA R 1 22 50
618 i 410421 19skskkscoksk k62 L XA (R 2 50
619 2% 410401 1 Qkssckorkx 26 sk XA R b 2 = 50
620 B 410401 19skeksictolotk23 L XA (R 2R 50
621 Xl 5t 410401 19tttk ] X L mitﬁ%éj\ = 50
622 R 410401 1 Ptttk 23 sk XA 2R T 2 50
623 = 410401 1 Qoo 1 0 Ly sk XA R b 2 50
624 Ak 410401 1 9ksksictokkk 29 L XA (R 2 50
625 Fx 410401 193kskkkokk 29 Ly XA (R 2 100
626 XK 410401 1 Qktoksiototosi ] 1 sk XA R T 2 50
627 1)1l 410401 1 9tttk ] X Ly sk XA R 1 22 50
628 54 410401 19k 2 X L XA (R 2 50
629 XI|Afh 410401 1 Qkssokokkx 39 LSk XA R b 2> = 50
630 ik 410401 1 Pkttt 22 Ly sk XA R T 50
631 X% 410401 1 Qoo 46 i mith‘%éj\ o~ 50
632 [iEs 410401 1 Pkttt 26 sk XA 2R T 2 50




633 L% 410401 1 9sksksisikokoksk | L XA (R 2 50
634 s 410401 1 9sksksksiokskk | 1 LS XA R b 2 50
635 Xl 410401 19skskksskokskk 1 5 L XA (R 2 50
636 R 4104011 9ot 16 | 1L EARIXAS R G2 50
637 T 410401 1 9sksksisiskokok2X e XA (R 2 50
633 Kk 4104011 9skskksk5k5%98 Ly A XA R 2 = 50
639 Xl 410401 19skskkskskokskk 1 L XA (R 2R 50
640 Bl 4104011 9oorototorer29 | 1AL XA %éj\ = 50
641 Fx 410401 1 9xsksikokoksksk 28 L XA (R 2 50
642 FH % 410401 1 Ptttk 25 Ly sk XA R b 2> 50
643 ik 410401 1 9skskssikokoksk 24 L XA (R 2 50
614 = 410401 1 9sksksksioksekk 22 LSk XA R 2 50
645 2 410401 19skkskskskskskk 20 L XA (R 2 50
646 K IE 4104011 Yoot 16 | 1L EARIXAS R G2 50
647 RN 410421 19s%%sskk4% 1 4 FIFAE XN RE RS 50
648 Fx 410421 1 9sksksskskkx 20 RIFA XA RBER S 50
649 T 4104211 9]0 | RIPAE XN [RZE il 50
650 Rkl 4104211 9ortoior30 | RIPALIXAS RZ G2 50
651 Fx 410421 19skksskokskskk2 | R XA KRB S 50
652 Fx 4104211 9orrioiond8 | RIPALIXAS RZ G2 100
653 ol 410421 1 9skssikokoksksk 22 REAE XM REZ RS 50
654 e 410421 19%kprrrrx19 | RIPH XA RFE RS 100
655 AL 4104211 9skskksskoksksk 1 2 R XA KRB S 100
656 Syl 410421 1 Pkttt 20 R XA RZE RS 50
657 s 410421 19skskeksickoksksk 27 R XA KRB 50
658 ik 410421 19skskk5k5%26 R XA KRB RAS = 50
659 Espk 4104211 oot 12 | RIPAEXAS IR G 2% 50
660 W 410421 19skksskksk%19 ﬂ?ﬂii‘ﬂ:ﬁ%éi 50
661 Zexfb 410421 1 9sssiskokoksksk 23 REFAE XN REZ RS 50
662 Bix R 410421 1 9sksksskskokoksk 24 ARIFA XA RZT 12 50
663 Sk 410401 19skstskskkk 30 R XA KRB R 2 50
664 Sk H 410421193k 1 R XA RZE 2 50
665 2ok 410421 19skksskokskkx 16 R XA KRB S 50
666 ik 41042119tk 28 REPH XA RZE 2 50
667 Sl 410421 19ssksksiklestek 1 X R XA RBR 2 50
6683 Bk 4104211 9ottt 15 | NIAEIXAS IR G 2% = 50
669 Hr i 410421 19%5kxk55%27 A XM R R 50
670 e 4104211 Yoorotioon28 | FITALIXAS %éj\ = 50
671 Z45 410421 1 9skskssikokoksk29 XA RERS 150
672 T 410421 1 Pkttt 29 A XA RZE RS 100
673 Fea 410421 1iiorotoiieond9 | FIIAEXAS IR A& 50
674 sl 410421 19k 20 A XA RZE RS 50
675 BHz 4104211 9otiortrn26 | FIRAE XA RZE 5142 100
676 ] 4104211 9ortoion2d | FITALIXAS R G2 50
677 Xl 4104211 9ot 10| iR AE XA REE G 2% 50
678 Tt 4104211 9eototoiieiend? | AL IRER G 2% = 50
679 s 410421 19%%%x555%23 A XM R R 50
680 ik 4104211 9orototoiond2 | FITALIXAS %éj\ = 100
681 EEx L 410421 1 Pttt 49 AL XA R G2 50




632 Bk 4104211 9optiorn26 | FIRAE XA RZE 5142 50
633 Exil 410421 19sktetokek 35 AL XA R Gl o 50
634 Bk 4104211 Qkspkorkn20 | R AL XA RZE 1 2> 50
685 e 4104211 9piorin2d | NIRAE XA RZE G143 150
636 Wik 410421 1 9%k 27 A XA RFBAS 300
687 T 410421 192X | FVTAEXAS R ZE A 22 100
688 i 410421 19ksokin26 | FUTAEXA R ZE A 2% 50
689 e 410421 19ksetiorkox 18 | RIMAE XA R ZE 514 50
690 SRt 410421 19kkrtix62 | Ak XA 25 2 200
691 S 4104211 9ptiorrin28 | NIRAE XA RZE G143 50
692 ks 4104211 9optiornd9 | FIRAE XA RZE 5142 50
693 FH s 410421 1 9tttk | XA RE RS 50
694 Tk 4104211 Qkskorin 13 | R AL XA RZE A 2> 50
695 fi* 410421 1 9skskskskskokoksk 24 Tt XA RE RS 50
696 Bk 410421 19ksoksek 16 | FIAE XA IRZE 514 100
697 Txh 4104211 9iori2X | NRAE XA RZE G145 50
698 Bk 4104211 Pkt 1X | R AR XA [RZR A 2% 50
699 ok 41042119tk 16 "Fﬂ%il:ﬁ%éj\ = 50
700 Xk 410421 19ksekiork12 | FI4E XM IRZE 14 100
701 R 410421 1 Ptttk ] 2 A XA RZE RS 100
702 FlE 4104211 9ketotion2X | RITAE XA R ZE 012> 50
703 sk 22 410401193k 24 BEAXA RZE A2 100
704 2 4104011 Portioion20 | B FEAE XA RZ 2> 100
705 Bx 410401 1 Pkttt ] 4 BEAMXNRERS 50
706 Bk 410401 19skskksiskoksksk | 7 B RE RS 100
707 Tl 4104011 9ot ]8 | H AR XA RZE o = 50
708 Kbt 410401 19iieorotoiien 19 | B AR XA IRZE A& 50
709 B 410401 1 9stksonskin | 3 E&“?ﬂ:[ﬁ%éi 50
710 ek 4104011 9otiorin29 | B A XA RZE 514 100
711 ki 4104011 9ptiorin2d | B AR XA RZE Gi4x 50
712 Xk 410401 1 9tttk 25 HEMXMNRERS 50
713 X4t 41040119kt 13 | B AR XA RZE G4 100
714 Hi*k 410401 1 Qs 23 B XA RZE 2 50
715 B B, 410401 1 Ptttk ] 3 BEAMXNRE RS 50
716 T 410401 19kiorotoiron23 | B AR XA RZE A 22 100
717 B 410401 193tttk 29 HEMXMNREZRES z: 50
718 s 4104011 Qoo 20 | B FEAE XA [RZE A 50
719 FxE 410401 19kksonkin38 Efﬂi[ﬁ%éj\ = 100
720 Aok 4104011 Potoion20 | B FEAE XA RZE A 2> 50
791 2 sl 410401 19%kskstsksesksk 2X HEAMXNRZE RS 50
799 Tk 4104011 9kwkrorn2]l | BFEAE XA RZE 2> 100
793 =P 410401 19skskk5k5%26 BEAXH RZE A2 50
724 s Al 4104011 Qoo | B FEAE XA RZE 2> 200
725 ik 410401 19sskkstsiotork25 BHEHXARZE R 100
796 i1 410401 19pksorrrn26 | B AL XA RS 51 45 50
797 Tt 4104011 9skskksk5k5%928 BEAXH RZE 2 = 50
798 T % 410401 1 9stookkk 22 B XA R R 100
729 X 4104011 9kiortin19 | B AR XA %éj\ = 100
730 Skl 410401 1 Gkttt 10 B XA RZE RS 50




731 By 410401 19skstskskesksk 19 BHEAXNREZ RS 50
739 Bk H 4104011 9skskkskk5%15 BEAXH RZE A2 50
733 Wxi 4104011 Qoo 29 | B FEAE XA RZ 2> 50
734 B 410401 1 Pkttt ] 4 BEAMXNRERS 50
735 X1 4104011 Qo2 | B FEAE XA RZE 2 50
736 A 3 4104011 9ot 12 | H A XA RZE o 50
737 [ 4104041 9kkkixd8 | B AL XA IR A 43 300
738 Bk H, 410401195kt 1 5 BEA XA RZE 2 100
739 Fin 4104011 9ktrionien2]l | H A XATRZE 14 100
740 Tk 410401 1 Ptttk 22 HEAMXNRZE RS 100
741 BEfT 410401193k ] 4 HEAXNREZ RS 100
742 i 4104041 9pkiorn2X | B AR XA RZE G4 100
743 SR 410401 19ksoksorkx 18 | FEAL XA IRZE 514 50
744 Fx 410401193kttt 2X BEAXH RZE 2 50
745 Ak 410401 19%ssskskskoksk 24 BN REZRE 50
746 Tx 4104011 9oiorirn29 | H AL XA RZE o> 50
747 Fx 410401 19ksokiorrn26 | HEAEXAIRZE 514 50
748 T 410401 19%kkstskskskk65 EE%ﬂ:EﬁﬁéA = 50
749 Xk 4104011 Qoo 2X | B FEAE XA RZ A2 50
750 Fx 410401 19skkksicokkk 25 B XA RZE 2 50
751 sk 4104011 9otiortn 16 | B AL XA RZE 5142 50
752 JE* 4104011 Qksorkorin28 | B FEAE XA ROZS A 2% 50
753 IRTid 4104011 Qoo | B FEAE XA RZ 2> 50
754 K 410401 193kskketok 10 BEAXH RZE 2 50
755 TRk 410401 19skskksskoksksk 27 B RE RS 50
756 T3 4104011 9ottt ]3| H AR XA RZE G4 = 150
757 1) 410401 19sekskotsiesonsk 1 7 BEEAM XA RZE RS 50
758 BRI 4104011 9pkiorin2] | B AL XA %éi 50
759 Fx 4104011 Qoo 28 | B FEAE XA RZ A 2> 50
760 EXe 4104011 9tiorrin2? | B AR XA RZE G 4x 50
761 FxE 410401 1 9ksteststskskskesk 1 7 HEMXMNRERS 100
762 B 410401195k 1 8 BEAXH RZE A2 50
763 T 4104011 Potioiondd | B FEAE XA RZE 2> 50
764 XI5 4104011 9piorird0 | B AR XA RZE Gi4s 50
765 2% 4104011 Pokioin29 | B FEAE XA RZE 2> 50
766 B x 4104011 9ot | H AL XA RZE o = 50
767 Hx 4104011 9ot ]3 | B AR XA RZE 5 50
768 FxifE 4104011 9kspioiondd | B FEAE X AT %éj\ = 50
769 A [ 4104011 9otiortn 7 | B A XA RZE G4 50
770 X%z 4104011 9kiorin18 | B AL XA RZE Giox 50
771 SRk E 410401 19s%s5kstkskesk: 23 BHEAXNREZ RS 50
772 R 4104011 Qksorkrorien20 | B FEAE XA ROZE A 2% 50
773 P 4104011 9otioriin24 | B A XA RZE G142 50
774 =% 4104011 9tiorrin26 | B AL XA RZE Gi4x 50
775 B/t 410401 19%kskskskesksk 19 B RE RS 50
776 Al 410401 19%sksskskokoksk 19 BEAXH RZE 2 = 50
777 Bk 4104011 Qoo 23 | B FEAE XA [RZE A 100
778 5= 41040119tttk 1 5 Eri“%i[ﬁ%éj\ = 50
779 ¥ 410421 1 Qskskskskkx2 | A A XA R R 2 100




780 TAg 410421 19%ksxxxx%%34 M)XK RE RS 100
781 Pk 410421 1 9sksksksioksekk 25 ) FEXA RZE RS 100
789 E 410421 19%kxsskskkkAX MMM REZRES 50
783 fiTsE 410421 19kiottond0 | AR AEIXASRZE A2 50
784 [EP 410421 19%kkxxx%% 16 M XN RERES 100
785 i 410421 19skskk5k5%50) ) A XA R 2 50
786 Xl 410421 19%%xk5k5%%24 M XN RERS 100
787 | EAFFE | 4104231 9ekkkk2b | VRHTHE XN RZ M2 50
788 Wk 4104231 9skstsskskk 20 VYt RE RS 50
789 2% 410423 19skksetorsiord 4 VUi XA RZE o 150
790 Tk 4104231 9opkiorin22 | VEHIHE XA RZE 5142 50
791 Hx 4104231 9skioniek26 | WHIH XA RE RS 100
799 T 4104231 9skkskskskskkk 209 VYA XA RTR2 200
793 Ay 4104231 9pppppp6d | VPIHE XA RZE R & 50
794 % 4104231 9skskssikokoksk 1 6 VYA XA RB R2 50
795 B 4104231 9sksksksskskskk23 TP XA RBA S 100
796 T} 4104231 9xsskokokskk 98 Vit XA RBR2 50
797 % 4104231 Ptttk 26 VEi 4 XA %éj\ o 250
798 Zx 4104231 9%xsxxx5%%60 it XN REZ RS 50
799 2 4104231 9oioodX | VEUIAEIXAS RZ 512 50
300 . 4104231 9kskssikokoksk | VYA XA B R2 50
801 el 4104231 9ototoiieiend7 | VEIAEIXAS IR G 2% 200
302 ERT 4104231 9sksfeksiskoteek 1 X Yt X A RE RS 50
803 HAE 4104231 9otirn29 | VEPIAEIXAS RE G2 100
304 2] 4104231 9s%skskssiskokok | X VYA XA RB R2 50
305 Aokl 4104231 9sksksksioktokk A8 Yt XA RBER S = 50
306 Ak 4104231 9skskksickskkx 26 VYt XA RE RS 50
807 e 4104231 9sksksksskokskk23 YFH5 4 XA %éi 50
308 Zox 4104231 9skskssikokoksk 26 VYA XA RB R4 50
809 o 4104231 9ortoioiin28 | VEPIAEIXAS R G2 50
810 P2t 410423 19sskkstkskeskkd 7 VYA XA B R2 50
811 Ex 410423126 | VPPIEX A R ZE A 2 50
319 T+h 4104231 9skskksiskoksksk | 7 VYA XA RT R2 50
813 Ty 4104011 9ortoioion2d | FREEFEIXAS R G2 100
814 =] 410401 19sskkstskseskked 2 KEHXMNRERS 50
315 Ty 410401 19skksskskskk%2 1 R XA RERS = 50
816 B 410401 19ksomtoin28 | GRAEAEIXAS R ZE A 50
817 bk 410401 19skkeksictoketok 1 8 K A XA %éj\ = 50
318 L% 410401 1 9xsksiskokoksksk 27 KEHXMNRERS 100
819 Bz 410401 19kiorototon20 | FRAAE XA RZE A2 100
820 Al 410401 19skkskskskskskx20) KEHXMNRERS 50
321 B 410401 1 9sksksksokskk 19 sk A XA RZE 2 50
899 Bk 4104011 9pksortrnd0 | H AL XA R 51 45 50
893 FxE 410401 19%ksktkeokk89 R XA RERS 100
824 B L 410401 19skskskskokskskk 24 KEHXMNRERS 50
895 Bk - 4104011 9skskksk5k5%35 A XA RERS = 50
326 T 410401 19skskkskokskk 27 K A XM R R 50
827 BAf] 4104011 9orototoro 10| GRAEREIXAS %éj\ = 50
828 i) 4104011 9otiortn 14 | SRAEAE XA RZE 5142 50




829 ATy 410401 1 9otk 2 7 KEHXMNRERS 100
830 B 410401 1 9kssskiooksk | 8 KEAH XA RE RS 50
831 Fx 410401 1 Qo 1 2 KEHXMNRERS 50
832 e 410401 1 Ptttk 42 sk A XA RZE 2 300
833 T 410401 19%%sskk%%19 KEHXMNRERS 100
834 ke i 410401193kt 16 R XA RERS 50
835 A 410401 1 9kl x26 skEAE XA KRB RS 50
836 kxR 410401 19skskeksictoetok 1 3 gR A XA RE R 2 50
837 Fx 410401 1 9ksksictokokk 26 KEHXMNRERS 50
838 ok &) 410401 1 Qkkksiokotrk 22 sk A XA RZE e 50
839 B 410401 19s%%sskk4%19 KEHXMNRERS 50
840 ZE 410401 1 Qoo ] 1 sk A XA RZE R 2 150
841 Fx 410401 1 Qkkskskokkx26 KEHXMNRERS 50
842 KT 410401 1 Gkt ] 4 sk A XA RZE e 50
843 FhxE 410401 1 Qktoksiototork 27 gk AL XA RZE RS 50
844 Eef 410401 1 9skskssioksekk 25 sk A XA RZE e 50
845 e 410401 1 skt 1 4 KEHXMNRERS 50
846 PEAT, 410401 19%ksktoketokk 19 K FE A XA %éj\ P 50
847 S 410401 19s%%sskk4%2 1 KEHXMNRERS 50
848 ek 5 410401 1 Qkkksiootork | 3 sk A XA RZE e 50
849 TB*AE 41040119427 KEHXMNRERS 50
850 X 410401 19skskksicokk 22 sk A XA RZE R 50
851 I 410401 1 Qoksksiokkx 20 KEHXMNRERS 50
852 e 410401 1 Qo3 1 sk A XA RZE e 50
853 Exi 410401 19s%s5kstkskesk: 28 KEHXMNRERS 50
854 B 410401 1 Gkt 24 R XA RERS = 50
855 Mk H 41040119k ] 2 KEHXMNRERS 50
856 k% I 410401 19%ksktoketokk 19 %&Eﬁ[ﬁ%éi 50
857 T *fk 410401 1 Ykttt 20 g4 XA [RZE 012 50
858 = 410401 1 Qkkksiokotrk 23 sk A XA RZE e 50
859 FE 410401 19%ssskskkokok 16 aKEAE XA RBHE 50
860 Wl 41040119tk 26 KA XA B2 o1 2s 50
861 K% e 410401 1 Qskssorotrk ] X KEHXMNRERS 50
862 Fx 410401 1 Qoo 45 sk A XA RZE 2 50
863 Yk 410401 1 9sctotokokk 28 RS XA RE & 50
864 Yk 410401 19skkksictokek 27 RIS XA REZ RS = 50
865 T 41040119kt 1 5 X XA R T 50
866 14k 410401 19sksksictototk 2X RIS AL XA %é; = 50
867 B2 410401 19skskksctokskk 27 RS XA R T 2 50
868 % 410401 193ksioketokk2 | RIS XA REZ RS 50
869 kx 410401 1 9stotokokk 28 RS XA R T 2 100
870 X% 410401 1 Qoksksoiorkx ] 1 AU A XA R 1 2 50
871 B 410401 1 Qoo | 1 RS X R T 2 50
872 Tk 410401 19skkksictokk 28 RIS XA KRB RS 50
873 ok 410401 1 9otk 25 RS XA R T & 50
874 RIS 410401 1 Qoo ] 1 AU A XA R b1 22 = 50
875 e 410401 193kt 19 XS XA R 50
876 B 410401 19sksksicttotok 1 X RIS AL X %é; = 50
877 T 410401 19sksokek2 | RS XA R T 2 50




878 ey 410401 19%skskkkkx%24 RIS XA KRB R S 50
879 Fhwsl 410401 1 Pkttt 46 AU A XA R b1 2 100
880 =]k y4 410401 193k 2X RIS XA R T 2 50
881 Fx 4104041 9ksksksisikok X B XA R 100
882 2R 4104231 Ptttk 26 XU A XA RS 1 2 50
883 ke 410401 1 Qs 2 | AU A XA R b1 2> = 50
884 Fx 410401 19skskslotokk 49 XS XA R 50
885 EROE 410401 19skkksictoketok 25 Uﬁi[ﬁ%ék = 50
886 B 410401 1 9setotokkk 28 RS XA R T 2 50
887 ZExE 410401 1 9sstokokoksk 37 XA XA (R & 50
888 2k 410401 1 9ssictokokk 29 RS XA R T 2 50
889 kx% 410401 1 Qoo 1 4 AU A XA R b1 2 50
890 Fx 410401 1 Qokssokkx29 RS XA R T 2 100
891 Ay 410401 1 9ksksetorok | X R A XA (R & 50
892 2 R 410401 1 9tk 24 RS XA R T & 50
893 J7 K 410401 1 Qoo ] 1 AU A XA R b1 22 50
894 BE¥2 410401 1 9k 29 R XA REB R & 50
895 Rk 410401 19skkksictokek 27 RIS XA KRB RS 50
896 gk 410401 19skkkscoksk k23 RS XA R T & 50
897 Tx 410401 19k | X XA XA (R & 50
898 - 410401 1 9ksksictokkk 29 RIS XA KRB RE 50
899 77 %I 410401 1 Qkssookk 19 AU A XA R b1 2 50
900 T 410401 1 Qo 19 RIS X R T 2 50
901 ZExAg 410401 1 9ksksoorok | X R A XA (R & 50
902 Tk 410401 1 9kskscictokokk 26 RS XA R T & 50
903 FxE 410401 19skskksictoketk 1 3 AU A XA R b1 2> = 50
904 2 4104011 9wkkkkik24 | BRUSH XA RERS 50
905 Tk 410401 193ksktoketoo ] 1 ﬁMiEﬁ%éi 50
906 gk 410401 19kkkscokk k28 RS XA R T 2 50
907 sty 410421 1 Qkkksooteork | 3 W R AL XA R e 50
908 BH AT 41042119kt 1 7 WERRAL XA R R e 50
909 Rxfl 4104211 9skskskk5k29 W R A XA R 01 2 100
910 2%l 410421 19skskskstsokokk2X WE A XA R 2 2 50
911 Bty 41042119 10 ﬂ%ﬁﬂi[ﬁ%éj\z: 100
912 [k o 410421 19sskskstsokokk2X WE A X R R 2% 2 100
913 Tl 410421 193kstkskokk 26 BEERAE XA RE R 2 = 50
914 ek 41042119kttt 10 WEE S A X ) 2 50
915 [ 2 41042119k 16 ﬂ%ﬁﬂi[ﬁ%éj\ = 50
916 EEFiE 410421 19%skskstskokoksk 13 W A X R R 2 2 100
917 kw2 410421 193kstketokk 24 MERAE XA RB RS 50
918 Fok 410421 19%sxxskskkk%k22 MR XM RB RS 50
919 B — 410421 1 Qoo 1 6 W R AL XA R e 300
920 s 410421 1 Qkskiokkx 20 WAL XA R R 100
921 A TE 41042119 20 BERAE XA REB RS 100
922 gk 410421 19%%xxx5k5k%2X MR XN RB RS 50
923 Bkl 410421 1 Qkkksokotkk 38 WA XA RE R 2 = 50
924 Akl 41042119kt 52 W R A XM IR TR 100
925 i 41042119k | g R AL XA %éj\ 2: 50
926 (i 410421 19%kskstskokk3k63 WE A X R R 2 2 50




997 Tk 410421 1 9sksksiskokksksk [ 2 MR XN RB RS 50
928 N 410421 1 Qoo 1 1 | WAL XA R ZE A 42 50
999 Bkl 410421 19%ssskskoksksk 2 W PR AL XA R & 50
930 fT 4104211 9opioriorn2b | BERRAE XA RZE 525 50
931 Ly e 4104211 Qoo 12 | MERRAE XA RZ 2> 100
932 Bk F 410421 1 Qoo 11 | WAL XA R Z2 A 42 100
933 Bk 410421 19wpksorrrn22 | WERRAE XA RS 51 45 100
934 e 4104211 9skkksictokeok 25 WEEAL XA RE 2 100
935 e 4104211 9kietorion23 | MR XOR R ZE 012> 100
936 s 410421 1 Qoo 1 X | WAL XA R ZE A 42 50
937 2k ke 4104211 Pkksoiorkk25 W R A XA (R 1 2 50
938 Fx 4104211 Qsortororin2? | MERRAL XA BOZS A 2% 50
939 Boxf 4104211 Qoo 10 | MERRAE XA RZ 2> 50
940 Bk 4104211 Qoo 14 | MERRAE XA RZS A 2% 50
941 Baxag 410421 1 9%k 13 MR AL XA RB A& 50
942 2k ] 410421 1956 | WEPRA XA IR B 2 50
943 bl 4104211 91X | BERRAE XA R G146 100
944 % 4104211 9kskkiokior2d | BEEFRAE X K] %éj\ = 50
945 Hf* R 410421 1 9kttt 48 W R A XA (RS 1 2 50
946 Hax K 410421 1 Pkttt 1 0 W R AL XA R e 50
947 e 410421 1 9%k 1 7 W R AL XA R 1 2 50
948 YN 410421 1 Pkttt 19 W R AL XA R e 50
949 ik 41042119kt 3 W R AL XA (R 1 2 50
950 e 4104211 Psorrornn2d | BERRAE XA R 515 50
951 W% 410421 1 Pkttt 10 W R A XA (RS 1 2 50
952 X 4104211 Qo4 | WEFRAE XA R 22 A 42 = 50
953 Fx 4104211 Qoo | MERRAL XA [RZ A 2 50
954 TxT 4104211 Qksotsierorieond6 | WERRAE X AT %éi 100
955 s 4104211 9betoror] 1 | WA XOR R ZE 012> 150
956 x5S 4104211 9opiioriorn]3 | BERRAE XA RZE 5o 50




